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• Please check that this question paper contains 15 printed pages.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 21 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 15 gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 21 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

ACCOUNTANCY

ys[kk'kkL=kys[kk'kkL=kys[kk'kkL=kys[kk'kkL=kys[kk'kkL=k
Time allowed : 3 hours Maximum Marks : 80

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  80

General Instructions :
(i) This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(i) ;g iz'u&i=k rhu Hkkxksa esa foHkä gS — d] [k vkSj xA

(ii) Hkkx d lHkh Nk=kksa ds fy, vfuok;Zvfuok;Zvfuok;Zvfuok;Zvfuok;Z gSA

(iii) 'ks"k Hkkx [k vkSj x esa ls dksbZ ,d,d,d,d,d Hkkx gy djuk gSA

(iv) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d gh LFkku ij fyf[k,A

PART A

(Accountancy)

Hkkx dHkkx dHkkx dHkkx dHkkx d

¼ys[kk'kkL=k½¼ys[kk'kkL=k½¼ys[kk'kkL=k½¼ys[kk'kkL=k½¼ys[kk'kkL=k½

1. Vinod Ltd. issued 1,000, 7% Debentures of Rs. 1,000 each at a discount of 5%. Pass
necessary journal entries for the issue of Debentures in the following cases :

(i) When the Debentures were redeemable at par.

(ii) When the Debentures were redeemable at a premium of 6%. 2
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fouksn fy- us izR;sd 1]000 #- okys 1]000] 7» _.ki=kksa dk fuxZeu 5» ds cês ij fd;kA fuEu

fLFkfr;ksa esa _.ki=kksa ds fuxZeu ds fy, dEiuh dh iqLrdksa esa jkstukeps esa vko';d izfof"V;k¡

dhft, %

(i) tc _.ki=k leewY; ij 'kks/kuh; gksaA

(ii) tc _.ki=k 6» ds vf/kykHk ij 'kks/kuh; gksaA

2. On 1.3.2005 Sen Ltd. converted 900, 6% Debentures of Rs. 100 each into 7% Preference
shares of Rs. 100 each. The Preference shares were issued at a discount of 10%.

Pass necessary journal entries in the books of the company. 2

1-3-2005 dks lsu fy- us izR;sd 100 #- okys 900] 6» _.ki=kksa dks] izR;sd 100 #- okys 7»

iwokZfèkdkj va'kksa esa ifjofrZr fd;kA iwokZf/kdkj va'kksa dks 10» ds cês ij fuxZfer fd;k x;kA

dEiuh dh iqLrdksa esa jkstukeps esa vko';d izfof"V;k¡ dhft,A

3. State any four essential features of partnership. 2

lk>snkjh dh dksbZ pkj vko';d fo'ks"krk,¡ crkb,A

4. G.M. Ltd. did not receive the first call on 2,700 Equity shares @ Rs. 3 per share which was
due on 1.1.2005. This amount was received on 1.2.2005.

Open calls in arrears account and record the above transactions in the book of the
company on 1.1.2005 and 1.2.2005. 2

th-,e- fy- dks 1-1-2005 dks ns; izFke ;kpuk jkf'k 3 #- izfr va'k dh nj ls 2]700 lerk va'kksa

ij izkIr ugha gqbZA ;g jkf'k 1-2-2005 dks izkIr gqbZA

cdk;k ;kpuk jkf'k [kkrk [kksydj Åij fn, x, ysunsuksa dh 1-1-2005 rFkk 1-2-2005 dks jkstukeps

esa izfof"V;k¡ dhft,A

5. A, B and C are partners in a firm sharing profits in the ratio of 2 : 2 : 1. C is guaranteed
a minimum amount of Rs. 10.000 as his share of profit every year. Deficiency if any, on
that account shall be borne by B. The profits for two years ending 31.3.2003 and
31.3.2004 were Rs. 50,000 and Rs. 60,000 respectively.

Prepare the Profit and Loss Appropriation Account for two years. 3

v] c rFkk l ,d QeZ ds lk>snkj gSa tks ykHk dk forj.k 2 % 2 % 1 ds vuqikr esa djrs gSaA

l dks 10]000 #- izfr o"kZ U;wure ykHkka'k dh xkjaVh nh xbZ gSA blesa fdlh Hkh deh dks]

;fn dksbZ gS] c ogu djsxkA 31-3-2003 rFkk 31-3-2004 dks lekIr gq, nks o"kks± dk ykHk Øe'k%

50]000 #- rFkk 60]000 #- FkkA

nks o"kks± dk ykHk&gkfu fofu;kstu [kkrk cukb,A

6. List any three points of distinction between fixed charge and floating charge Debentures. 3

LFkk;h vkos'k ¼pktZ½ rFkk ifjorZu'khy vkos'k ¼pktZ½ _.ki=kksa esa vUrj ds dksbZ rhu fcUnq lwphc)

dhft,A
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7. Explain briefly the meaning of ‘over-subscription’ and ‘under-subscription’. 4

^vf/k&vfHknku* rFkk ^vYi&vfHknku* ds vFkZ dks la{ksi esa le>kb,A

8. Give necessary journal entries in each of the following alternative cases : 4

(i) Expenses of realisation amounted Rs. 7,400.

(ii) Expenses of realisation Rs. 7,400 were paid by Ravi, a partner.

(iii) Realisation expenses were to be borne by Deepak, a partner, for which he was allowed
a commission of 2% of net cash realised from dissolution. The net cash realised from
dissolution was Rs. 1,00,000 and actual realisation expenses were
Rs. 7,400.

(iv) Expenses of realisation Rs. 7,400 were to be borne by Khan, a partner. Khan used
firm’s cash for paying these expenses.

nh xbZ fuEufyf[kr oSdfYid ifjfLFkfr;ksa ds fy, jkstukeps esa vko';d izfof"V;k¡ dhft, %

(i) olwyh [kpsZ 7]400 #- FksA

(ii) olwyh [kpsZ 7]400 #- dk Hkqxrku ,d lk>snkj] jfo us fd;kA

(iii) olwyh [kpks± dk ogu ,d lk>snkj] nhid us fy;k] blds fy, mls fo?kVu ls olwyh 'kq)

jksdM+ dk 2» deh'ku ns; FkkA fo?kVu ls olwyh 'kq) jksdM+ 1]00]000 #- Fkh rFkk

okLrkfod olwyh [kpsZ 7]400 #- FksA

(iv) olwyh [kpsZ 7]400 #-] ,d lk>snkj] [kku dks ogu djus FksA [kku us bu [kpks± dk Hkqxrku

QeZ dh udnh ls fd;kA

9. What  is  meant  by  reconstitution  of partnership  ?  List  the   occasions   on  which  a

partnership is reconstituted. 4

lk>snkjh ds iquxZBu dk D;k vFkZ gS \ mu voljksa dks crkb, tc lk>snkjh dk iquxZBu gksrk

gSA

10. On  1.4.2000  J  Ltd.  issued  Rs.  2,00,000  8%  Debentures  at  a discount  of 3%.  The

Debentures were redeemable as under :

Rs. 80,000 on 31.3.2002

Rs. 40,000 on 31.3.2003

Remaining on 31.3.2004

Prepare ‘Discount on Issue of Debentures Account’. Show your calculations also. 4
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1-4-2000 dks ts- fy- us 2]00]000 #- ds 8» _.ki=kksa dk fuxZeu 3» ds cês ij fd;kA _.ki=kksa dk

'kks/ku fuEu izdkj ls djuk Fkk %

80]000 #- 31-3-2002 dks

40]000 #- 31-3-2003 dks

'ks"k 31-3-2004 dks

^_.ki=k fuxZeu cêk [kkrk* cukb,A viuh x.kuk Hkh n'kkZb,A

11. On 31.3.2004 W Ltd. had the following balances in its books :

9% Debentures Rs. 6,00,000

Debenture Redemption Reserve Rs. 2,00,000

On that date the company decided to transfer Rs.  1,00,000 to Debenture Redemption
Reserve and redeemed Rs. 3,00,000 worth of Debentures.

Pass necessary journal entries in the books of the company. 4

31-3-2004 dks MCY;w fy- dh iqLrdksa esa fuEu 'ks"k Fks %

9» _.ki=k 6]00]000 #-

_.ki=k 'kks/ku dks"k 2]00]000 #-

mijksä frfFk dks dEiuh us _.ki=k 'kks/ku dks"k esa 1]00]000 #- LFkkukUrfjr djus dk fu.kZ; fy;k rFkk

3]00]000 #- ds _.ki=kksa dk 'kks/ku dj fn;kA

dEiuh dh iqLrdksa esa jkstukeps esa vko';d izfof"V;k¡ dhft,A

12. B, C and D were partners in a firm sharing profits in the ratio of 2 : 2 : 1. On 1.3.2005
they admitted E as a new partner for 1/l0th share in the profits. The new profit sharing
ratio will be 5 : 3 : 1 : 1. On E’s admission the goodwill of the firm was valued at
Rs. 3,00,000. E brought Rs. 1,20,000 for his capital. He also brought necessary cash as
premium for his share of goodwill. Showing your calculations clearly, calculate the
sacrifice/gain of B, C and D. Pass necessary journal entries for the above transactions in

the books of the firm. 6

c] l rFkk n ,d QeZ esa lk>snkj Fks 2 % 2 % 1 ds vuqikr esa ykHk ck¡Vrs FksA 1-3-2005

dks mUgksaus bZ dks ykHk ds 1@10osa va'k ds fy, ,d u, lk>snkj ds :i esa izos'k fn;kA u;k

ykHk&lgHkktu vuqikr 5 % 3 % 1 % 1 gksxkA bZ ds izos'k ij QeZ dh [;kfr dk ewY;kadu

3]00]000 #- fd;k x;kA bZ 1]20]000 #- viuh iw¡th ds fy, yk;kA og vius va'k dh [;kfr

ds fy, izhfe;e ds :i esa vko';d jksdM+ Hkh yk;kA viuh x.kukvksa dks Li"V n'kkZrs gq, c]

l rFkk n dk R;kx@ykHk Kkr dhft, rFkk mijksä ysunsuksa dh QeZ dh iqLrdksa esa vko';d

jkstukepk izfof"V;k¡ dhft,A
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13. Ravi and Kumar were partners in a firm sharing profits in the ratio of 3 : 7. On 1.3.2005
their Balance Sheet was as follows :

Liabilities Amount Assets Amount
Rs. Rs.

Creditors 20,000 Buildings 20,000

Bills Payable 10,000 P & L Account 14,000

Capital Accounts : Lorry 15,000

      Ravi 6,000 Stock 6,000

      Kumar 24,000 30,000 Debtors 3,000

Cash 2,000

60,000 60,000

On the above date the firm was dissolved. Ravi agreed to pay Creditors and Bills
Payable. Assets realized : Debtors Rs. 2,950; Stock Rs. 5,000; Lorry 7% less and
Building 20% more.

Prepare Realisation Account, Partners’ Capital Accounts and Cash Account, to close the
books of the firm. 6

OR

P, Q and R commenced business on January 01, 2002 with capitals of :

P Rs. 80,000

Q Rs. 60,000

R Rs. 60,000

Profits are shared in the ratio of 4 : 3 : 3. Capital carried interest @ 5% per annum. During
the year 2002, the firm suffered a loss of Rs. 80,000 before allowing interest on capital.
Drawings of each partner during the year were Rs. 3,000.

On December 31st, 2002, the partners agreed to disslove the firm as it was no longer
profitable. The creditors on that date were Rs. 20,000. The assets realised a net value of
Rs. 1,20,000 and the expenses of realisation were Rs. 2,000.

Prepare Realisation Account, Partners' Capital Accounts and Cash Account along with
necessary working to close the books of the firm.
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joh rFkk dqekj ,d QeZ ds lk>snkj Fks tks ykHkksa dk forj.k 3 % 7 ds vuqikr esa djrs FksA

1-3-2005 dks mudk fLFkfr fooj.k fuEu izdkj ls Fkk %

ns;rk,¡ jkf'k lEifÙk;k¡ jkf'k

#- #-

ysunkj 20]000 Hkou 20]000

ns; fcy 10]000 ykHk&gkfu [kkrk 14]000

iw¡th [kkrs % ykWjh 15]000

joh 6]000 LVkWd 6]000

dqekj 24]000 30]000 nsunkj 3]000

udn 2]000

60]000 60]000

mijksä frfFk dks QeZ dk fo?kVu gks x;kA joh us ysunkjksa rFkk ns; fcyksa ds Hkqxrku dh lgefr

nhA lEifÙk;ksa ds cspus ls fuEu izkfIr;k¡ gqb± % nsunkjksa ls 2]950 #-( LVkWd ls 5]000 #-( ykWjh ls

7» de rFkk Hkou ls 20» T;knkA

QeZ dh iqLrdsa cUn djus gsrq olwyh [kkrk] lk>snkjh ds iw¡th [kkrs rFkk jksdM+ [kkrk cukb,A

vFkokvFkokvFkokvFkokvFkok

ih] D;w rFkk vkj us tuojh 01] 2002 dks fuEufyf[kr iw¡th ls O;kikj izkjEHk fd;k %

ih 80]000 #-

D;w 60]000 #-

vkj 60]000 #-

ykHkksa dk foHkktu 4 % 3 % 3 ds vuqikr esa fd;k tkrk gSA iw¡th ij 5» okf"kZd dh nj ls C;kt

fn;k tkrk gSA o"kZ 2002 esa QeZ dks 80]000 #- dh gkfu gqbZ tks fd iw¡th ij C;kt yxkus ds

iwoZ FkhA o"kZ ds nkSjku izR;sd lk>snkj ds vkgj.k 3]000 #- FksA

31-12-2002 dks] D;ksfd O;olk; Hkfo"; esa ykHkdkjh gksus dh n'kk esa ugha Fkk] lk>snkjksa us QeZ

dks cUn djus dk fu.kZ; fy;kA ml fnu ysunkj 20]000 #- ds FksA lEifÙk;ksa ls fuoy ewY;

1]20]000 #- olwy gq, rFkk olwyh O;; 2]000 #- FksA

QeZ dh iqLrdksa dks cUn djus ds fy, olwyh [kkrk] lk>snkjksa ds iw¡th [kkrs rFkk jksdM+ [kkrk

vko';d izfØ;k fn[kykrs gq, cukb,A
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14. P, Ltd. invited applications for issuing 80,000 Equity shares of Rs. 10 each at a premium of
Rs. 3 per share. The amount was payable as follows :

On Application — Rs. 5 per share

On Allotment    — Balance (including premium)

Applications for 1,20,000 shares were received and pro-rata allotment was made to all
the applicants. Excess money received on applications was adjusted towards sums due
on allotment. N to whom 800 shares were allotted failed to pay the allotment money.
His shares were accordingly forfeited. The forfeited shares were re-issued at Rs. 9 per
share as fully paid up.

Pass necessary journal entries in the books of the company. 6

ih- fy- us 10 #- okys 80]000 lerk va'kksa ds fuxZeu gsrq vkosnu vkeaf=kr fd,A va'kksa dks 3 #- izfr

va'k ds vf/kykHk ij fuxZfer djuk FkkA jkf'k fuEu izdkj ls ns; Fkh %

vkosnu ij — 5 #- izfr va'k

vkcaVu ij — 'ks"k ¼vf/kykHk lfgr½

1]20]000 va'kksa ds fy, vkosnu izkIr gq, rFkk lHkh vkosndksa dks vuqikfrd vk/kkj ij vkcaVu dj

fn;k x;kA vkosnu ij izkIr vfrfjä jkf'k dk vkcaVu ij ns; jkf'k esa lek;kstu dj fy;k x;kA

,u ftls 800 va'kksa dk vkcaVu fd;k x;k Fkk] us vkcaVu jkf'k dk Hkqxrku ugha fd;kA vkcaVu jkf'k

dk Hkqxrku ugha djus ij mlds va'kksa dks tCr dj fy;k x;kA tCr fd, x, va'kksa dks 9 #- izfr

va'k dh nj ls iw.kZ iznÙk ds :i esa iqu% fuxZfer dj fn;k x;kA

dEiuh dh iqLrdksa esa jkstukepk esa vko';d izfof"V;k¡ dhft,A

15. M, N and O are partners in a firm sharing profits in the ratio of 3 : 2 : 1. On 31.3.2004
N retired from the firm. On that date the Balance Sheet of the firm was as follows :

Liabilities Amount Assets Amount
Rs. Rs.

Sundry Creditors 27,000 Bank 27,000

Bills Payable 12,000 Debtors 6,000

Outstanding Salary 8,200 Less Provision
for Bad Debts 400 5,600

Capital Accounts : Stock 9,000

M    46,000 Furniture 41,000

N    30,000 Building 60,000

O    20,000 96,000

1,43,200 1,43,200
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N retired on the following conditions :

(i) Building will  be  appreciated by  10%.  Stock will be  depreciated by  Rs.   1,000.
Furniture was to be brought upto Rs. 45,000.

(ii) Goodwill of the firm was valued at Rs. 42,000 and N’s share was to be adjusted
without opening goodwill account.

(iii) N was to be paid Rs.  26,000 in cash immediately and  the balance was to be
transferred to his loan account.

(iv) The new profit sharing ratio between M and O will be 3 : 2.

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of the
new firm. 8

OR

A and B were partners in a firm sharing profits equally. The Balance Sheet of the firm
as on 31.3.2004 was as follows :

Liabilities Amount Assets Amount
Rs. Rs.

Creditors 14,000 Cash 12,000

Bills Payable 4,000 Debtors 8,000

Capital Accounts : Less : Provision
for Bad Debts 500 7,500

A   41,000 Stock 10,000

B   41,000 82,000 Machinery 25,000

Building 45,000

1,00,000 1,00,000

On the above date they admitted C as a new partner in the firm for 1/3 share in the
profits on the following terms :

(i) Goodwill of the firm was valued at Rs. 12,000. C brought Rs. 41,000 for his capital
and the necessary amount of cash as premium for his share of goodwill.

(ii) Building was to be valued at Rs. 50,000 and Machinery at Rs. 22,000.

(iii) Provision for bad debts was to be maintained at 5% of debtors.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the
new firm.
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,e] ,u rFkk vks ,d QeZ ds lk>snkj gSa tks 3 % 2 % 1 ds vuqikr esa ykHk ck¡Vrs gSaA 31-3-2004 dks

,u us QeZ ls vodk'k xzg.k fd;kA ml frfFk dks QeZ dk fLFkfr fooj.k fuEu izdkj Fkk %

ns;rk,¡ jkf'k lEifÙk;k¡ jkf'k

#- #-

fofHké ysunkj 27]000 cSad 1]00]000

ns; fcy 12]000 nsunkj 6]000

vnÙk osru 8]200 ?kVk Mwcr _.kksa ds fy,

izko/kku 400 5]600

iw¡th [kkrs % LVkWd 9]000

,e 46]000 QuhZpj 41]000

,u 30]000 Hkou 60]000

vks 20]000 96]000

1]43]000 1]43]200

,u us fuEu 'krks± ij vodk'k xzg.k fd;k %

(i) Hkou dk ewY;kadu 10» ls vf/kd gksxkA LVkWd dk ewY; 1]000 #- Ðkflr fd;k tk,xkA

QuhZpj dk ewY;kadu 45]000 #- fd;k tk,xkA

(ii) QeZ dh [;kfr dk ewY;kadu 42]000 #- fd;k x;k rFkk [;kfr esa ,u ds va'k dh [;kfr [kkrk

[kksys fcuk lek;ksftr fd;k tk,xkA

(iii) ,u dks 26]000 #- dk udn Hkqxrku rqjUr fd;k tkuk Fkk rFkk 'ks"k dks mlds _.k [kkrs esa

LFkkukUrfjr djuk FkkA

(iv) ,e rFkk vks dk u;k ykHk&lgHkktu vuqikr 3 % 2 gksxkA

iquewZY;kadu [kkrk] lk>snkjksa ds iw¡th [kkrs rFkk ubZ QeZ dk fLFkfr fooj.k cukb,A

vFkokvFkokvFkokvFkokvFkok
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v rFkk c ,d QeZ esa lk>snkj Fks tks ykHk dk forj.k cjkcj&cjkcj djrs FksA 31-3-2004 dks QeZ

dk fLFkfr fooj.k fuEu izdkj ls Fkk %

ns;rk,¡ jkf'k lEifÙk;k¡ jkf'k

#- #-

ysunkj 14]000 jksdM+ 12]000

ns; fcy 4]000 nsunkj 8]000

iw¡th [kkrs % ?kVk Mwcr _.kksa ds fy, izko/kku 500 7]500

v 41]000 LVkWd 10]000

c 41]000 82]000 e'khujh 25]000

Hkou 45]000

1]00]000 1]00]000

mijksDr frfFk dks mUgksaus ykHk esa 1@3 va'k ds fy, l dks ,d u, lk>snkj ds :i esa QeZ esa fuEu

'krks± ij izos'k fn;k %

(i) QeZ dh [;kfr dk ewY;kadu 12]000 #- fd;k x;kA l viuh iw¡th ds fy, 41]000 #- yk;k

rFkk vius va'k dh [;kfr ds fy, izhfe;e ds :i esa vko';d /ku udn yk,xkA

(ii) Hkou dk ewY;kadu 50]000 #- rFkk e'khujh dk ewY;kadu 22]000 #- fd;k x;kA

(iii) Mwcr _.kksa ds fy, izko/kku nsunkjksa ds 5» ds cjkcj j[kuk FkkA

iqueZwY;kadu [kkrk] lk>snkjksa ds iw¡th [kkrs rFkk ubZ QeZ dk fLFkfr fooj.k cukb,A

PART B
(Analysis of Financial Statements)

Hkkx [kHkkx [kHkkx [kHkkx [kHkkx [k

¼foÙkh; fooj.kksa dk fo'ys"k.k½¼foÙkh; fooj.kksa dk fo'ys"k.k½¼foÙkh; fooj.kksa dk fo'ys"k.k½¼foÙkh; fooj.kksa dk fo'ys"k.k½¼foÙkh; fooj.kksa dk fo'ys"k.k½

16. List any two points of distinction between a Balance Sheet and a Funds Flow Statement. 2

fLFkfr fooj.k rFkk dks"k izokg fooj.k esa vUrj ds dksbZ nks fcUnq crkb,A

17. State whether the following transactions will result into inflow, outflow or no flow of

funds : 2

(i) Paid to creditors Rs. 50,000 in cash.

(ii) Depreciation charged on Building Rs. 75,000.

(iii) Issued Rs. 3,00,000, 9% Debentures for cash.

(iv) Paid Rs. 3,50,000 for machinery purchased.

crkb, fd fuEufyf[kr ysunsuksa ls dks"k dk vUr% izokg] cká izokg vFkok dksbZ izokg ugha gksxk %

(i) ysunkjksa dks 50]000 #- dk udn Hkqxrku fd;kA

(ii) Hkou ij 75]000 #- ewY;Ðkl yxk;k x;kA

(iii) 3]00]000 #- ds 9» _.ki=kksa dk udn :i esa fuxZeu fd;k x;kA

(iv) e'khujh Ø; ds fy, 3]50]000 #- dk Hkqxrku fd;kA
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18. Briefly explain any three limitations of analysis of financial statements. 3

foÙkh; fooj.kksa ds fo'ys"k.k ds fdUgha rhu lhekvksa dks la{ksi esa le>kb,A

19. The current assets of a company are Rs. 8,00,000. Its current ratio is 4.00 and its liquid
ratio is 1.35. Calculate the amount of its current liabilities, liquid assets and inventory. 3

,d dEiuh dh pkyw lEifÙk;k¡ 8]00]000 #- FkhA bldk pkyw vuqikr 4-00 rFkk rjyrk vuqikr

1-35 FkkA pkyw ns;rk,¡] rjy lEifÙk;k¡ rFkk LVkWd dh x.kuk dhft,A

20. On the basis of the information given below calculate any two of the following ratios : 4

(i) Gross Profit Ratio

(ii) Debt-Equity Ratio

(iii) Working Capital Turnover Ratio

Information :

Rs.

Net sales 7,87,500
Cost of goods sold 3,95,600
Current liabilities 2,37,000
Loan 87,000
Current assets 3,99,000
Equity share capital 3,75,000
8% Debentures 1.25,000

uhps nh xbZ lwpuk ds vk/kkj ij fuEufyf[kr esa ls fdUgha nksnksnksnksnks vuqikrksa dh x.kuk dhft, %

(i) ldy ykHk vuqikr

(ii) _.k&lerk vuqikr

(iii) dk;Z'khy iw¡th vkorZ vuqikr

lwpuk %

#-

'kq) foØ; 7]87]500

csps x, eky dh ykxr 3]95]600

pkyw ns;rk,¡ 2]37]000

_.k 87]000

pkyw lEifÙk;k¡ 3]99]000

lerk va'k iw¡th 3]75]000

8» _.ki=k 1]25]000
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21. Following  are  the Balance Sheets of X.L. Ltd. as on 31st March 2003 and 31st March
2004 :

Liabilities 2003 2004 Assets 2003 2004
Rs. Rs. Rs. Rs.

Share Capital 12,08,000 15,87,000Goodwill 70,000 40,000

General Reserve 1,00,000 1,25,000Building 10,00,000 15,00,000

Profit & Loss A/c 70,000 65,000Investments 2,00,000 1,00,000

Proposed Dividend 35,000 40,000Debtors 75,000 95,000

Creditors 21,000 18,000 Stock 77,000 73,000

Outstanding Rent 7,000 3,600Cash 12,000 27,000

Preliminary Expenses 7,000 3,600

14,41,000 18,38,600 14,41,000 18,38,600

You are required to :

(i) Prepare Schedule of Changes in Working Capital.

(ii) Calculate Funds from Operations, and

(iii) Prepare Funds Flow Statement. 6

OR

The following balances appeared in Plant and Machinery Account and Accumulated
Depreciation  Account in the books of P.S. Ltd. :

Balance as at 31.3.2003 31.3.2004

Rs. Rs.

Plant and Machinery 39,99,990 47,47,770

Accumulated Depreciation 10,10,110 12,12,120

Additional Information :

During  the  year   a  piece   of machinery  costing  Rs.   2,20,000   on   which   accumulated
depreciation was Rs. 1,04,000 was sold for Rs. 64,000.

You are required to :

(i) Compute the amount of Plant and Machinery purchased, depreciation charged and
loss on sale of machinery.

(ii) State how shall each of the items related to Plant and Machinery be shown in the
Cash Flow Statement.
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31 ekpZ 2003 rFkk 2004 dks ts ih fy- ds fLFkfr fooj.k fuEu izdkj ls Fks %

ns;rk,¡ 2003 2004 lEifÙk;k¡ 2003 2004

#- #- #- #-

va'k iw¡th 12]08]000 15]87]000 [;kfr 70]000 40]000

lkekU; lap; 1]00]000 1]25]000 Hkou 10]00]000 15]00]000

ykHk&gkfu [kkrk 70]000 65]000 fuos'k 2]00]000 1]00]000

izLrkfor ykHkka'k 35]000 40]000 nsunkj 75]000 95]000

ysunkj 21]000 18]000 LVkWd 77]000 73]000

vnÙk fdjk;k 7]000 3]600 jksdM+ 12]000 27]000

izkjfEHkd [kpsZ 7]000 3]600

14]41]000 18]38]600 14]41]000 18]38]600

vkils visf{kr %

¼v½ dk;Z'khy iw¡th ifjorZu rkfydk cukb,]

¼c½ lapkyu ls izkIr dks"k dh x.kuk dhft,] rFkk

¼l½ dks"k izokg fooj.k cukb,A

vFkokvFkokvFkokvFkokvFkok

ih-,l- fy- dh iqLrdksa esa la;a=k rFkk e'khujjh [kkrs rFkk lafpr ewY;Ðkl [kkrs esa fuEufyf[kr 'ks"k

n'kkZ, x, Fks %

'ks"k 31-3-2003 31-3-2004

#- #-

la;a=k rFkk e'khujh 39]99]990 47]47]770

lafpr ewY;Ðkl 10]10]110 12]12]120

vfrfjDr lwpuk %

o"kZ ds nkSjku ,d e'khu ftldk ewY; 2]20]000 #- Fkk rFkk ftl ij lafpr Ðkl dh jkf'k

1]04]000 #- Fkh] dks 64]000 #- esa csp fn;k x;kA

vkils visf{kr %

(i) o"kZ esa Ø; fd, x, la;a=k ,oa e'khujh dh jkf'k] yxk;k x;k ewY;Ðkl rFkk foØ; dh xbZ

e'khujh ij gkfu dh x.kuk dhft,A

(ii) crkb, la;a=k rFkk e'khujh ls lEcfU/kr izR;sd en jksdM+ izokg fooj.k esa dSls n'kkZbZ

tk,xhA
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PART C

(Computerised Accounting)

Hkkx xHkkx xHkkx xHkkx xHkkx x

¼vfHkdfy=k ys[kkadu½¼vfHkdfy=k ys[kkadu½¼vfHkdfy=k ys[kkadu½¼vfHkdfy=k ys[kkadu½¼vfHkdfy=k ys[kkadu½

16. What is meant by normalisation ? 2

lkekU;hdj.k dk D;k vFkZ gS \

17. What is data redundancy ? What problems are associated with it ? 3

lead fujFkZdrk D;k gS \ blls lEcfU/kr D;k&D;k leL;k,¡ gSa \

18. What do you understand by unary, binary relation ? 2

bdgjs] nksgjs lEcU/k ls vkidk D;k rkRi;Z gS \

19. Conceptualise the accounting reality in terms of Entity Relation Model concepts. 3

ys[kkadu okLrfodrk dks bZ-vkj- ¼,fUVVh fjys'ku½ ekWMy /kkj.kk ds :i esa ladfYir dhft,A

20. Develop and depict an Entity Relationship Model for this accounting reality. 3

ys[kkadu okLrfodrk ds fy, ,d bZ-vkj- ¼,fUVVh fjys'kuf'ki½ ekWMy fodflr ,oa fpf=kr

dhft,A

21. Show the database design in terms of relevant data tables and their inter-relationships.
3+4 = 7

vkadM+ksa ij vk/kkfjr vfHkdYi ¼fMt+kbu½ dks izklafxd vkadM+ksa dh lkj.kh ds :i esa fn[kkb, rFkk

muds vUrlZEcU/kksa dks crkb,A
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Note :   Q. 19 to 21 to be done with the help of the following vouchers :
Voucher 1

Voucher 0705 Date : May 07, 2004
Debit Account : 110001 Cash Account M/s. Macrowell

Credit Account

Sl. No. Code Name of A/c Amount (Rs.) Narration

1 174001 Capital A/c 2,00,000 Capital brought in

Authorised by Prepared by
Gopal Sarala

Voucher 2
Voucher 1105 Date : May 11, 2004
Credit Account : 110001 Cash Account M/s. Macrowell

Debit Account

Sl. No. Code Name of A/c Amount (Rs.) Narration

1 160001 Purchases 40,000 Goods purchased

Authorised by Prepared by
Gopal Sarala

uksV %uksV %uksV %uksV %uksV % iz'u 19 ls 21 rd ds mÙkj fuEufyf[kr izek.kdksa dh lgk;rk ls nhft, %

izek.kd 1izek.kd 1izek.kd 1izek.kd 1izek.kd 1

izek.kd 0705 fnukad % ebZ 07] 2004

uke [kkrk % 110001 jksdM+ [kkrk esllZ eSØksosy

tek [kkrk

Øe la- dksM [kkrs dk uke jkf'k ¼#-½ lUnHkZ

1 170001 iw¡th [kkrk 2]00]000 iw¡th ykbZ xbZ

vf/kÑr rS;kjdrkZ

xksiky ljyk

izek.kd 2izek.kd 2izek.kd 2izek.kd 2izek.kd 2

izek.kd 1105 fnukad % ebZ 11] 2004

tek [kkrk % 110001 jksdM+ [kkrk esllZ eSØksosy

uke [kkrk

Øe la- dksM [kkrs dk uke jkf'k ¼#-½ lUnHkZ

1 160001 Ø; 40]000 eky dk Ø;

vf/kÑr rS;kjdrkZ

xksiky ljyk


